RD Trivselbridge
Rhodos 7 2021-10-04

Partavling, 8 bord, 16 par. Antal brickor: 26. Medel: 182.0.

Plac Par Poang % Namn MID Klubb
1 7 234.3 64.38 Marianne Jonsberg - Ulla Norén 84972 14789 Storsjobygdens BK - BK S:t Erik
2 8 206.7 56.79 Sonja Rat - Gunvor Johansson-Hajdu 60323 17919 Saltsjobadens BS
3 1 197.4 54.24 Ewa Meijer - Britta Lindqvist 6323 36332 Malaré BS
4 5 197.3 54.20 Bertil Sandberg - Inger Kinge 65023 45015 BK S:tErik
5 10 196.7 54.04 Goran Lind - Kerstin Hallgren 14248 6059 Skalby-Barkarby - Enkopings BS
6 6 192.7 52.94 Birgitta R&dberg - Christina Ahl 17276 3140 Gavle BK
7 11  191.8 52.71 Ove Jansson - Inga Nyberg 9090 33178 Akersberga BS
8 4 188.5 51.77 Lennart Blomgren - Siw Blomgren 4464 6253 Hollvikens BK
9 12 187.3 51.46 Lennart Karlberg - Ami Emilsson 2185 26579 Malaré BS
10 9 172.8 47.48 Helene Sjostrand - Britt Jarnestrom 49982 29985 Gamleby BK - Vasterviks BK
11 13 169.8 46.64 Kiristian Johnsson - Monica Johnsson 84130 30028 ABB BK
12 3 164.8 45.27 Karin Nyberg - Géran Rydell 5059 13057 BK Lejonet
13 15 160.6 44.13 Johnny Ramsten - Tage Ericson 90802 11651 Hallstahammars BK - BK Allians, Halmstad
14 2 158.1 43.44 Per-Axel Svensson - Inga-Britt Svensson 37399 37446 Odeshdgs BK
15 14 150.1 41.24 Lars Sjoberg - Margareta Lundskog 52722 52723 Lomma BK
16 16 1429 39.27 Lena Belin - Annie Lindholm 27175 55781 Solstabridgen - RD Trivselbridge
1 4 8764 Bésta kontrakt 2 » EK5 Bésta kontrakt 3 4 K73 Bésta kontrakt
Nord v53 44 O =-420 Ost vE9743 44 S =620 Syd v 87 INTV =-2220
Ingen + KD7 NS + Kn983 ov 4976
#DKn65 & ¢ v & NT *7 & ¢ v & NT #K10943 & ¢ v & NT
4 DKn &« EK932 N6 7 233 47432 48 N6 8 9 109 «E9 » 86 N10O0G60
vEDKn102 v864 S67 335 vD v K1086 S 6 89 109 vEDKn63 v K94 S10060
+108642 - O 7 5 10104 ¢ 1052 ¢+ K764 07 4323 + ED85 ¢ K1042 O 1013137 13
*2 #98743 V 7 5 10105 #Kn10965 #ED83 V74323 87 #EDKnN6 V 1013137 13
4105 4 DKn1096 4 DKn10542
v K97 v Kn52 v 1052
+ EKn953 +ED ¢+ Kn3
#EK10 *K42 #52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 8 INS+3 vA 180 140 00| 4 2 44 S+1 45 650 140 00(14 2 4y V+1l &4 -650 140 0.0
4 2 2NS= v2 120 120 20| 7 3 3NS+1 &T 630 120 20| 8 4 3NV+2 &3 -660 120 2.0
6 11 3v V= +K -140 100 40| 6 11 54DO-3 4Q 500 100 40| 1 11 4vV+3 &K -710 9.0 50
7 3 3v0+1 &A -170 6.0 80|16 5 34S+2 &J 200 80 6.0| 7 12 4vV+3 43 -710 9.0 5.0
14 1 2vV+2 #Q -170 6.0 80| 9 8 3«¢S+1 vQ 170 50 9.0|15 13 3NV +4 3 -720 6.0 8.0
16 5 3vV+l K -170 6.0 80|15 12 34 S+1 vQ 170 50 9.0|10 9 6NO= 4Q  -1440 4.0 10.0
13 10 3NS-5 4Q -250 20 12013 10 3 V-1 aA 50 20 120| 5 3 6vyV+l 43 -1460 1.0 13.0
15 12 24DN-4 5 -800 0.0 140(14 1 4vy N-1 *7 -100 0.0 140|16 6 6vyV+l &K -1460 1.0 13.0
4 4976 Bésta kontrakt 5 48 Bésta kontrakt 6 & K962 Bésta kontrakt
Vast v KKn82 INTN =90 Nord v KKn10987 6NT O =-990 Ost v EK87 4¢ S =130
Alla + E82 NS + Knog ov ¢ DKn3
+D64 & ¢ v & NT »K65 & ¢ v & NT *84 & ¢ v & NT
4 Kn8 4 KD43 N7 7777 4EK32 4DKn9765 N5 1 6 1 1 4 EDKNn1053 487 N 8 106 6 6
vE1074 v953 S77777 v42 vES5 S51611 v 1094 v DKn532 S 8 106 6 6
4976 ¢ K1054 O56 6 65 ¢E752 ¢ KD3 O 8 127 1212 | +E8 ¢+ K10 053767
#K1097 #Kn2 V5686675 #EKN9 102 V 8 127 1212 | %105 #DKn97 V53767
4 E1052 4104 ry!
v D6 v D63 v6
¢ DKn3 + 1064 ¢ 976542
#E853 #D8743 #EK632
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
15 13 INN+2 &4 150 140 00| 2 12 44 O+2 ¢Q -480 80 60| 8 13 34V-2 ¢+Q 200 13.0 1.0
7 12 2NS= 4] 120 120 20| 6 4 44 0O0+2 v3 -480 80 60|14 3 34V-2 ¢+Q 200 13.0 1.0
1 11 140-1 vQ 100 100 40| 8 13 44 O+2 v6 -480 80 60|15 1 4¢S+1 T 150 10.0 4.0
5 3 INS= +4 90 70 7.0|11 10 44 O+2 vQ -480 80 60| 2 12 24 V-1 vA 100 70 7.0
10 9 INN= *4 90 70 7.0[14 3 44 0+2 T -480 80 60| 9 5 3saV-1 vK 100 70 7.0
8 4 24S-1 *9 -100 20 120|15 1 440+2 3 -480 80 6.0|11 10 5¢ S-1 vT -50 4.0 10.0
14 2 24S-1 +8 -100 20 12016 7 44 0+2 vQ -480 80 60| 6 4 5¢DS-1 4A -100 20 120
16 6 24 S-1 +6 -100 20 120| 9 5 440+3 ¥Q -510 00 140(16 7 24 V= vA -110 0.0 14.0
7 4 EKnl10 Basta kontrakt 8 4 KD1072 Basta kontrakt 9 D8 Basta kontrakt
Syd vED964 3v S =140 Vast v K94 44 V D -1 100 Nord v 97 44 N =420
Alla ¢ E73 Ingen + D86 ov ¢ E952
*75 & ¢ v & NT #102 & ¢ v & NT #EKD107 & ¢ v & NT
« D6 487432 N4 4965 443 4 E65 N37 478 47532 41096 N 107 8 109
v7 v K83 S 44965 v D8753 vE10 S37 489 vED v K862 S 107 9 109
¢ K9g4 ¢ DKn52 099477 ¢- ¢K109754 O 9 6 8 5 4 + D10 ¢+ K8764 035433
#EKDKN92 #4 V99477 #DKn9865 #E7 V9685414 #Kn8632 %4 V35434
& K95 4 Knog # EKKn4
v Kn1052 v Kn62 v Kn10543
+ 106 ¢ EKn32 ¢+ Kn3
10863 #K43 #95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
7 5 3vyN= *4 140 130 10| 7 5 34 0-3 ] 150 120 20| 3 15 3NS= ¢+Q 400 13.0 1.0
12 11 3v N= *4 140 130 10| 9 1 3+ 0-3 LY 150 120 20|14 5 3NS= «3 400 13.0 1.0
10 6 4¢ O-1 vJ] 100 100 40|10 6 4+ O-3 49 150 120 20({10 2 2NN+2 &4 180 10.0 4.0
14 4 INN= *4 90 80 6.0 3 13 24 N+1 #A 140 70 7.0|13 12 INN+1 46 120 8.0 6.0
3 13 4v N-1 *4 -100 50 90|14 4 34 N= «A 140 70 70| 4 1 3NS-1 a2 -50 4.0 10.0
9 1 3vyN-1 LY -100 50 90| 2 15 34 O-2 aJ 100 30 11.0(11 7 3NN-1 +6 -50 40 10.0
2 15 3#V+1l 3 -130 10 13.0|16 8 3¢ O-2 ] 100 3.0 11.0|16 9 3NN-1 +6 -50 4.0 10.0
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16 8 3#V+l YA -130 10 13.0|12 11 2v V= &T -110 0.0 140| 8 6 3NS-2 3 -100 0.0 14.0
10 45 Basta kontrakt 11 » K98 Basta kontrakt 12 8 Basta kontrakt
Ost v 108 5v O =-650 Syd v E107 INTS =90 Vast v 1093 ANT V =-430
Alla + K9865 Ingen + K873 NS + K103
#109742 & ¢ v & NT #E109 & ¢ v & NT #DKn8754 & ¢ v o NT
4 E943 & Kn102 N7 6254 4EKN762 453 N76767 4E10 & KKn975 N65343
vKn6532 vED97 S76 254 v KKn6 v 842 S76767 vEDKn762 v84 S75343
+D1042 +E7 06 7 118 9 + D102 ¢ E954 06 7565 +ED8 4652 O5 7 108 10
- »KD86 V6 7 118 9 #54 #DKn83 V6756¢6 *K9 #632 V 6 7 108 10
« KD876 « D104 « D6432
vK4 v D953 v K5
¢ Kn3 ¢ Kn6 ¢ Kn974
#EKn53 *K762 *E10
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
16 9 4v0-1 8 100 140 00| 1 13 INN+1 &5 120 140 00| 1 13 4v V-2 8 100 120 20
8 6 2v0+2 &K -170 120 20| 5 2 INO-2 «6 100 120 20|11 3 4v V-2 «8 100 120 2.0
3 15 3#N-2 ¢A -200 90 50| 4 15 INN-1 5 -50 9.0 50|16 10 44 O-2 «A 100 120 2.0
11 7 24 S-2 v5 -200 90 50|11 3 2vS-1 *4 -50 90 50| 9 7 4v V-l 48 50 70 7.0
13 12 24 S-3 v5 -300 60 80|12 8 INO= v5 -90 50 90|12 8 3vV-1 8 50 70 7.0
10 2 4v V= 5 -620 4.0 10.0(|16 10 INO= v3 -90 50 90| 4 15 1lvV+2 a8 -140 4.0 10.0
4 1 49y O0+1 ¢ -650 10 130 9 7 2vS-2 *5 -100 20 120| 5 2 1vV+3 48 -170 20 120
14 5 4y V+1l 45 -650 10 130|14 6 2vS-3 &5 -150 0.0 140|114 6 3NV+1 &7 -430 0.0 14.0
13 4« Kn1073 Bésta kontrakt 14 4 K1072 Bésta kontrakt 15 49 Bésta kontrakt
Nord v3 5# N =600 Ost v7 46 S =420 Syd v Kn104 64 O =-980
Alla + D8 Ingen + ED65 NS + Kn983
#KKn9875 & ¢ v & NT #EDKn3 & ¢ v o NT #D9743 & ¢ v & NT
+E64 #9852 N 119 7 8 9 #9653 « D8 N 11106 107 4543 « EKKNn10876N 7 8 2 0 2
vKnl1094 v D762 S 119 8 8 9 v K106 v ED9853 S 11106 107 vEK975 v82 S78302
+ K532 + 1096 023532 ¢ KKn108 ¢ 72 023733 ¢E7 ¢D 05 4 9 1211
#ED *64 V23532 *K5 +1084 V23733 #865 *K10 V449 118
«KD « EKn4 «D
v EK85 v Kn42 v D63
¢ EKn74 4943 + K106542
#1032 #9762 #EKn2
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
2 1 3NS+2 2 660 140 00| 6 3 4a4S= 43 420 130 10|11 9 44 0+1 5 -450 140 0.0
6 3 3NS= vT 600 110 30|10 8 44 S= vK 420 130 10| 3 2 44 0+2 5 -480 120 2.0
10 8 3NS= vK 600 110 30| 5 15 3«S+2 v6 150 80 6.0| 1 10 44 O+3 &2 -510 70 7.0
12 4 INS+3 vJ 180 80 60|12 4 44S+1 v6 150 80 60| 6 15 44 O+3 ¢4 -510 70 7.0
13 9 3&#N+2 49 150 50 90|13 9 3vV-3 «9 150 80 60|13 5 44 0+3 ¢4 -510 70 7.0
14 7 3«N+2 v6 150 50 9.0| 2 1 34S= v6 140 40 100|114 8 44 O+3 4Q -510 70 7.0
16 11 INS+1 v9 120 20 12014 7 44S-= vK 130 20 120| 7 4 64 0= *A -980 20 12.0
5 15 3NS-1 vJ -100 00 140|116 11 2v V+1 #A -140 0.0 140|16 12 64 O+1 +3 -1010 0.0 14.0
16 4874 Basta kontrakt 17 4~ E98 Basta kontrakt 18 4 DKn932 Basta kontrakt
Vast v75 64 V =-1430 Nord vD 34 N =140 Ost v2 54 S =650
ov ¢ E754 Ingen ¢ KKn872 NS ¢ EKn954
*ED75 & ¢ v & NT #DKn87 & ¢ v & NT *73 & ¢ v & NT
aE2 «KKn10653 N 6 5 0 1 2 410532 4 KKn N 7 108 9 8 21065 474 N 109 8 119
vEDKn92 vK843 S65012 vKnl1065 vK93 S 6 108 9 8 v D43 v EKn765 S 109 8 119
¢ DKn932 - O 7 8 121210 + D105 463 06 3545 ¢ K1086 ¢ 732 034524
*6 *K42 vV 7 8 121210 *62 #EK10543 V 6 3 545 #Kn86 #E52 V24523
«D9 4 D764 « EK8
v 106 vE8742 v K1098
+ K1086 ¢+ E94 +D
#Kn10983 *9 #KD1094
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
3 2 4y V= v5 620 140 00| 1 6 3NN= «A 400 140 00| 7 15 44 S+1 #A 650 130 1.0
7 4 4vyV+1l ¢5 -650 120 2.0| 8 5 2NN+2 #A 180 120 20|12 10 44 N+1 &7 650 130 1.0
1 10 5v O+1 ¥5 -680 100 4.0| 7 15 2NS+1 43 150 80 60| 4 3 3NN= v6 600 100 4.0
6 15 4y V+3 v7 -710 50 90|13 16 3¢ N+2 4K 150 80 6.0|13 16 INS+3 vQ 180 8.0 6.0
11 9 4vV+3 v5 -710 50 90|14 9 3#0-3 ¢A 150 80 6.0| 2 11 24 N+2 ¢7 170 6.0 8.0
13 5 4vV+3 48 -710 50 90| 2 11 3¢ N+1 #A 130 40 100| 1 6 2v0O-2 ¢+Q 100 4.0 10.0
14 8 5vV+2 48 -710 50 90|12 10 3¢ N= «K 110 20 120| 8 5 44 N-1 a7 -100 1.0 13.0
16 12 6y V= A -1430 0.0 140 4 3 3#0-2 ¢A 100 0.0 140|14 9 3NN-1 v6 -100 1.0 13.0
19 & K864 Basta kontrakt 20 + 10964 Basta kontrakt 21 +103 Basta kontrakt
Syd v D87 5v V =-650 Vast v E843 5¢v N =650 Nord v K105 5v O =-450
oV ¢+ E9 Alla ¢+ 75 NS + EKn8652
#EKNn62 & ¢ v & NT »D86 & ¢ v & NT *97 & ¢ v & NT
« D932 » EKn5 N4 4233 # 82 « K753 N 7 9 111010 « EKKNn752 484 N37 224
vEKn652 v K94 S 44233 v K65 v 97 S 7 9 119 10 vE3 v DKn742 S37224
+ 853 ¢ KDKn 08 9 111010 ¢+ D8642 ¢ Kn9 064233 +1073 *4 09 6 11107
*K «D1094 vV 8 9 111010 #EK3 #109754 V64233 *K2 #E8543 V 9 6 11107
+ 107 # EDKn D96
v103 v DKn102 v 986
+ 107642 + EK103 + KD9
#8753 #Kn2 #DKn106
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
1 16 3NO-1 ¢7 100 130 10| 3 12 4vS+1 #A 650 140 00| 9 15 4a4 V-1 *9 50 120 20
5 4 3NO-1 «T 100 13.0 10| 1 16 INV-2 v3 200 100 40|10 7 34V-1 *9 50 120 2.0
2 7 1lvyV+3  #9 -170 70 70| 2 7 2vS+3 &A 200 100 40|14 11 4vO-1 *Q 50 120 20
3 12 29 V+2 +A -170 70 7.0|14 10 2#0-2 vQ 200 100 40| 2 16 24 V+1 T -140 6.0 8.0
8 15 29y O+2 8 -170 70 7.0| 8 15 2v N+2 +J 170 40 100| 4 13 24 V+1 9 -140 6.0 8.0
13 11 29 O+2 T -170 70 7.0| 9 6 3y N+1 ¢J 170 40 100| 6 5 24 V+1l &9 -140 6.0 8.0
9 6 4v V= *2 -620 20 120|113 11 2vS+2 #A 170 40 100| 3 8 34 V+1l +A -170 20 120
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14 10 3NO+1 T -630 0.0 140| 5 4 3vyN= +J 140 0.0 140 1 12 34 V+2 +A -200 0.0 14.0
22 & K109642 Basta kontrakt 23 493 Basta kontrakt 24 » Kn1095 Basta kontrakt
Ost vE8 5NT S =460 Syd v 10865 3v S =140 Vast v E43 3NTV =-400
oV ¢ D42 Alla + K1085 Ingen ¢ 7543
»E2 & ¢ v & NT #Kn96 & ¢ v o NT #52 & ¢ v o NT
4D ~E85 N7 99 1111 4ED84 4 K762 N57957 & EK72 # 843 N5 47 44
v KKn6 v 9542 S7 99 1111 v94 v73 S57 957 vKn v D872 S547 44
¢ KKn95 ¢ 1086 054422 ¢ DKn43 ¢92 086 486 ¢ EKDKN96 ¢ 2 089699
#Kn9643 #1075 V54422 #ED5 #108432 V86 486 94 #KD1087 V896 99
«Kn73 # Kn105 « D6
vD1073 v EKDKn2 v K10965
¢E73 +E76 4108
*KD8 *K7 #EKn63
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
6 5 3NS+2 &4 460 140 00 5 1 340-2 vA 200 140 00| 5 1 6¢ O-3 A 150 140 0.0
3 8 44 N= ¢A 420 90 50| 3 16 3vS= 48 140 11.0 30| 7 6 3NV-1 L) 50 120 2.0
4 13 44 N= T 420 90 50|15 10 3v S= v9 140 11.0 3.0| 3 16 3¢ V= oT -110 8.0 6.0
9 15 44 N= T 420 90 50|14 12 34 O-1 vA 100 80 60| 4 9 20 V+1l &) -110 8.0 6.0
10 7 44 N= v9 420 90 50| 2 13 24 0= vA -110 6.0 80|14 12 14 V+l &5 -110 8.0 6.0
1 12 24 N+3  ¢5 200 30 110 4 9 34 0= vA -140 3.0 11.0| 2 13 1a V+2 &5 -140 4.0 10.0
2 16 3« N+2 T 200 30 110 7 6 24 O+1 vA -140 30 11.0(11 8 3NO= v6 -400 20 12.0
14 11 44 N-1 v8 -50 0.0 140|111 8 4vS-2 v9 -200 0.0 14.0|15 10 3NO+1 ¥9 -430 0.0 14.0
25 4103 Bésta kontrakt 26 #1082 Bésta kontrakt
Nord v Kn87 5& N =400 Ost v Kn5 64 O D -51400
oV ¢ Kn976542 Alla ¢+ KD32
*9 & ¢ v & NT #KKn94 & ¢ v & NT
2 K964 4852 N 118 7 9 9 « DKn97543 & K6 N 1210126 9
vK1054 v D932 S 118 7 9 9 v 104 vEG3 S 1210126 9
¢ E83 ¢+ KD10 0246 44 +97 ¢ Kn8654 013171
*87 #Kn102 V246144 *106 *D75 vi1i3171
« EDKn7 +E
vE6 v KD9872
.- ¢+ E10
#EKD6543 #E832
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 1 3NS= v4 400 100 40| 3 1 4vS+2 +9 680 120 2.0
4 16 3NS= v4 400 100 40| 6 2 4vS+2 &T 680 120 2.0
5 10 5 S= «8 400 100 40| 8 7 4vS+2 &T 680 120 2.0
8 7 5#S= ¢A 400 100 40| 4 16 4v S+l +9 650 50 9.0
12 9 54 S-= 8 400 100 40| 5 10 4vS+1 «Q 650 50 9.0
14 13 3#S+2 ¢A 150 30 11.0(12 9 4vS+1 4Q 650 50 9.0
15 11 3&#S+2 v4 150 3.0 11.0|15 11 4y S+1 &7 650 50 9.0
6 2 64S-1 ¢ A -50 0.0 14.0|14 13 3v S+2 &5 200 0.0 14.0
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